@590

475.11

571.11

i

=

L85 () ()
i
B
}

-
e |

96

. 640 _
19 1| tapon:rosca conica Latén 1/8" Gas
; 18 2 Racord Aire Latén 1/8" @10
17 14 | J. Tédrica Vitén D2
16 8 | RPL RPL081150 G1/8" laton G 1/8"
15 2 | Valvula aire 1.4034 J16x20
14 5 | Pasador DIN 6325 BJ10x22
13 3 | Pasador DIN 6325 J8x20
12 16 | tornillo:allen DIN 8.8 M10x50
11 8 | tornillo:allen DIN 8.8 M6x25
m - 10 8 | tornillo:allen DIN 8.8 M8x30
b% %P 9 8 tornillo:allen DIN 8.8 M20x110
8 4 | guia:cilindrica DIN 1.7242 | @30x170
7 4 | Centrador 1.7131 Cel 38
6 1| Pletina refrigeracion 1.2738 J284x25
5 1| Serpentin Mouldmax | ©@120x45
4 1| Postizo punzon 1.2738 B252x70
3 1| Aro punzon 1.2344 J399x59
\ 2 1/ Punzén 1.2738 @590x410
1 1| Placa base movil 1.2311 640x640x96
POS. CANT. DENOMINACION MATERIAL | MEDIDAS
—1® Nombre Fecha Firma .
Dioiads 5.G.G. | 091110 i e
Comprobado|  O.S.P. 091110
Din A2 Material -
Tratatamiento -
mwmm_m 17L @294x342 Exp Mould 091110 —2°™ 650 Kg
Dimensiones |640x640x571 00

H G E E D C | B | A



